
61

51

61 51

61
51

20

51
44

A

51

51

61

51

61

51

76

51
76

44. 3/8"X1 3/4"L HEX HEAD BOLT=1PCS
76. 3/8"x1 1/4"L HEX HEAD BOLT=2PCS
46. 3/8"X3"L HEX HEAD BOLT      =2PCS
61. 3/8" NYLON LOCK NUT          =5PCS
51. 3/8" WASHER 27               =10PCS

GIOT Hardware List

G9S VS GIOT PAGE 1.1

GIOT

HOME GYM G9S

21 3 4 5 6



G9S VS GIOT PAGE 1.2


	G9S-VS-GIOT-A
	G9S-VS-GIOT-B

